OO0 iTerm -

data=none ~

———————————————— Sequence Number => 84 -----ccccccmcncaaaaan
data=<graph name = "Graf">

---------------- Sequence Number => 85 -----ccccccmcacacaaax
data=none
---------------- Sequence Number => 86 --------cccccmcaaaaan
data=none
———————————————— Sequence Number => 87 ------cccccmcmnaaaaan

data=<RoutingTable name="cls@@4.cs.ie.u-ryukyu.ac.jp:10004"><ts hopnum="0" tsid="cls@®4.cs.ie.u-ryuk
yu.ac.jp:10004" ttl="0"/><ts hopnum="1" tsid="cls@B6.cs.ie.u-ryukyu.ac.jp:10006" ttl1="256"/><ts hopn
um="1" tsid="cls@B3.cs.ie.u-ryukyu.ac.jp:10003" ttl="256"/></RoutingTable>

---------------- Sequence Number => 88 ------cccccccacaaaaan
data=cls@@l.cs.ie.u-ryukyu.ac. jp:10001
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